-

P4

-

S dasly

P sl (209 pid (390 3T doliduuily
(dassza Jol3e0)

\

AemETE
Awdad : gy Mu_,‘::

51 axio \YRA/A/Y o o505l 30 )6 P13 :-a.!l.;_/
X y g J'ﬁ"" 5"’",
XAy + zAy = xAz (oy0io/Y)
%xﬁ\z+‘\e°=xﬁz (0303 o/Y)
e
,  Dv—xAz-Ixkzoac-IxhAz 850 xizo1a00—xAz =50 =xAy (syuie/¥D)
A Al
(6,303 /YD)
1Y Il gl
) X=VAe" —(F" +¥") = A" o) X=9"—p8"=%.°
Y= —F" =18° A =2 —x =" =00°
y:ﬂoo—ﬁeu=fo°
D ooly o bliz. x=¥8" 5) X=9¢"—FY" =¥A°
y=1he" —¥8° =1v8° Y=1A" —FA° =11y
¥ o Gl
AY —Yo=YY (o40i/VH)
Foo XYY =V (oyeie/Td)
tF g il
1) o iy
) AB+BD=AD <) AC+CE=AE
z) AE-AB=EB s) CE-CD=DE
s) AD-BC=AB+CD 5) (AB+BD)-DC=AC
15 Mo il
]'E i ,10 00l ool dlal, ulil
¥ Mg il
FoO Fo°
O+ B+ = A2 0 =15:° (003 0/B)
Ao® Ao°
A+B+€=1A°=> A =Y:° (0305 o/))
A_Xe_2
O Vee b
1A g il
la Lo L %+%=r+\=f
llase (FXV)+(¥XY)=F+F=\0
1A o gl
A _— A - —
<) OAB &lie o OA+OB>AB <) OCD &lis 5 OD+0C>DC
A —_ A - —
z) BCD &l o CD+BC>BD 3) ABC &die 00 BC+AB>AC
A _— —
2) OBC &lis . OB+0OC>BC




